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, ; Problem 1
TR Use the Stefan—Boltzmann law to estimat

themtmmyofthcsolarmdmmm
by the sun, assuming that it is a perfoct

" radiator and that its sutface temperatume
‘ is 6000 K. Then find the solar intensity
at the Earth’s surface, remembering that

" the solar enevgy will be spread overa .
sphmmlwffauwhmmdmusaqual

F————- 10 the mean distance from the sun to the
~ . Earth (1.495 X 10! m). The sun’s

radius is about 6.96 % 10° m.
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Problem 2
I the two-layer model, consider the case in

which the atmosphere absorbs a fractiom  __________

a < 1 of the Earth’s radiation. In this

case, the radiation leaving the top of the
atmosphere will include a faction of the

radiation from the Earth’s surface that hes ——————
not been absorbed by the atmosphere. Wheat

value of absorptivity a would the atmo-

spheve have to have for the surface tewper-
mtohawtheobmodvalueon&K?
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